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SINDHI HIGH SCHOOL, HEBBAL
FORMATIVE ASSESSMENT- IV, 2015- 2016

CLASS: 9 ENGLISH MARKS: 30
DATE: TIME: 1hr
1. Read the following passage carefully: 6

Cholera Stalks KRK

Disease Toll 83, Govt. Fears Rerun of 2007 Epidemic

1. With water borne diseases wreaking havoc on the KRK region, the Orissa government
on Thursday admitted that it was just not diarrhoea but the dangerous cholera that had
emerged as the killer during the past few weeks. This came after the city based Regional
Medical Research Centre (RMRC) confirmed that six out of the 16 rectal swabs collected
from the worst-hit Rayagada district tested positive for “vibrio cholerae” bacteria.

2. The startling revelation coincided with one more death reported from Rayagada,
sending the alarm bells ringing in the state government. Health mandarins and doctors
have started apprehending a repeat of the 2007 epidemic in Rayagada, Koraput and
Kalahandi districts when hundreds had perished to cholera and gastro-enteritis. The
epidemic this year is also the same and since the beginning of August as many as 83
people, comprising 34 in Rayagada, 27 in Nuapada, 10 in Nabarangpur, 8 in Malkangiri
and 4 in Kalahandi have already succumbed to diarrhoea and related ailments,
according to the state disease surveillance cell here.

3. “Our tests found presence of Vibrio cholerae bacteria in some samples sent to us by
the state health department,” Director, RMRC, SK Kar told Tol, “Taking advantage of
climatic changes the bacteria“ s toxic form increases and causes severe problems when
infected water is consumed,” he added. Kar further informed that while reports, of some
rectal swabs had come in, findings of the water samples and some more stool samples
were still awaited. “Those should come within two to three days,” he said.

4. The government had earlier sent two medicos to Rayagada after the diarrhoea cholera
outbreak, but they did not do their job properly, an official release said. The government,
going by the release, claimed to be taking adequate measures to deal with the epidemic
situation and has rushed additional doctors and para-medical staff of Rayagada.

(i) Cholera is a
(ii) Cholera is caused when

(iii) According to state disease surveillance cell as many as have succumbed
to diarrhoea.
(iv) The government has rushed to Rayagada.

(v) Find the word from third paragraph which means the same as “eaten/drunk / used.”
(vi)The antonym of the word ‘concealment’ from the passage is

2. Most of the trees in and around the twin city of Bhubaneswar and Cuttack have been
cut in the name of development, construction of wide roads and traffic control. As a
concerned citizen and member of Plant Lovers Association write a letter in about 120
words to the editor of a newspaper drawing the attention of concerned authorities to take
action against it. Highlight the importance of trees and need to protect them. Sign
yourself as Aishwarya / Manas, 15, Barabatti Road Cuttack. 5

3. India is known throughout the world for its rich cultural heritage, art, architecture,
dance, song and music. Write an article on World Tourism Day on “The Need to Develop
Tourism in India”. You are Jivan / Shrusti. (100 words) 4



4. Here is some information about famous playwright, William Shakespeare. Study the
notes and complete the blanks with the most appropriate options. 2

William Shakespeare — Poet and playwright — Birth 1564 — Stratford - upon — Avon — Son
of John Shakespeare — Married Anne — went to London 1591 — Wrote 154 sonnets, 37
plays — death 1616.

William Shakespeare (a) great playwright and poet. He was born in 1564.
His (b) John Shakespeare. At the age of 18 he married Anne Hathway. He (c)

to London in 1591 where he wrote 154 sonnets, 37 plays and some
narrative poems before his (d) 1616.
(@) (i) is the (ii) are a (iii) was a (iv) were the
(b) (i) parents are (ii) father was (iii) mother is (iv) brother was
(c) (i) went to (ii) goes to (iii) was going to (iv) had gone to

( (

(d) (i) death on (ii) died on iii) death in iv) had died in

5. The following passage has not been edited. There is an error in each line against
which a blank is given. Write the incorrect word and the correction in your answer sheet.
2

Parents or teachers overwhelmingly eg or and
want to bringing back the cane (a)
in schools at Britain complaining (
that the classrooms has (c)
turned unrule. (

6. Read the conversation and complete the sentences given below. 2
Wife : Our TV is out of order.
Husband : God has heard my prayer.

Wife complained to her husband that (a)
The husband said (b)

7. Read the extract and answer the questions: 3

All the world’s a stage
And all the men and women are merely players:
They have their exits and entrances;

a) What is the poet trying to convey through these lines?
b) What poetic device is used in the first line?
c) What does the poet mean by exits and entrances?

8. Answer the following: 6
a) What is the poem ‘Oh I wish I looked after me teeth’ about?

b) T am too old a bird to be caught with chaff’. What does the speaker mean by this?

c) Why was Private Quelch chosen for cookhouse duties?



SINDHI HIGH SCHOOL,HEBBAL
FORMATIVE ASSESSMENT - IV (2015-16)
SUBJECT:- SOCIAL SCIENCE

Class IX Marks:- 30
DATE:- TIME:- 1 HR
1. Name the first Inspector General of forests in India? (1/2)
2. Why were the Kalangs of Java considered valuable? (1/2)
3. Define Poverty ? (1)
4. The anti poverty programmes did not reach the deserving poor. Why? (1)
5. How is poverty measured in India? (2)
6. Explain the causes of deforestation in India. (3)
7. What is shifting cultivation? Why was it banned? (3)
8. Explain scientific forestry and the provisions of the act of 18787 (3)
9. Explain any 3 programmes launched by the government of India to alleviate

poverty? (3)
10. What steps were taken to reduce poverty in states of

(a) Punjab & Haryana (b) Kerala & West Bengal . (3)
11. Explain the rebellion of Bastar and its results. (3+2=5)
12. Who takes up the responsibility of estimating poverty line ? Describe

“Vulnerable groups? (5)

SINDHI HIGH SCHOOL,HEBBAL
FORMATIVE ASSESSMENT - IV (2015-16)
SUBJECT:- SCIENCE

Class IX Marks:- 30
DATE:- TIME:- 1 HR
1. What is weight? (1)

2. Write the ratio of the elements by mass in which they form the following
compounds: (1)
(a) carbon and hydrogen in carbon dioxide (b) hydrogen and oxygen in water

3. Mention the causes of global warming. (1)

4. Write molecular formula of the following compounds :

(1)

(a) zinc nitrate (b) Aluminium sulphate
5. School bags are provided with wide straps .Why ? (2)
6. Valency of a metal M is +4. Write formula of its : (2)
(a) Oxide (b) chloride
7. What is thermal pollution? How can it be prevented? (2)

8. The volume of a substance of mass 50g is 20cm?3 . Does the substance float or
sink in water? (2)

9. ‘Water is the cradle of life’ Justify. (2)



10. Define the following. (a) SI unit of work (b) Kinetic energy (2)

11. How is rain formed? Mention the different forms of precipitation. (2)
12. Explain the significance of water in living beings. (2)
13. calculate the molecular mass of the following compounds and justify in which
compound the molecular mass can be termed as formula unit mass : (3)

(a) glucose (b) sodium chloride
14. (a) State Archimedes principle. (3)

(b) A steel and a wooden ball of same volume are immersed in water. Which
among the two experience larger up thrust & Why ?
(c)The relative density of mercury is 13.6 . What do you mean by this
statement?
15. Calculate :
(a) the mass of 0.7 moles of oxygen gas.
(b) the number of moles in 60 g of calcium. (3)
Atomic mass of elements given above :
H=1,C=12,N=14,0=16,Na=23,Al=27,S =32, Cl=35.5,
Ca=40,Zn = 65.5)
16. Explain the process of weathering of rocks with the help of a flow chart.
(3)
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SUBJECT:- MATHEMATICS

Class IX Marks:- 30
DATE:- TIME:- 1 HR
SECTION - A (1x3=3)

1. Express y in terms of x from the equation 3x+2y =8 and check whether the point
(4 ,-2) lies on the line.

2. Find the value of k k; if x + 2; y= 1 is a solution of the equation 2x+3y = k

3. The perimeter of one face of a cube is 20 cm .Find its surface area.

SECTION - B (2 x3

=6)

4. Aroller 1.5 m long has a diameter of 70 cm. How many revolutions will it make to
level a play ground measuring 50 m x 33 m.

5. The radius of a spherical balloon increases from 7 cm to 14 cm as air is being
pumped into it . find the ratio of surface areas of the balloon in the two cases.

6. The cost of petrol in a city is rs 50 per litre . Set up a linear equation with x
representing the number of litres and y representing the total cost in Rs.

SECTION - C (3 x3 =9)
7. Taxi fare in a city is Rs 8 for first one Km and for the subsequent distance , it is
Rs 5 per Km. Write an Equation to represent this information in 2 variables taking
distance covered x Km and total far we asy (in Rs). Find the distance covered , if
he spent Rs 63.
8. Give the Geometric representation of 2x + 9= 0; as an equation in



(a) one variable (b) two variable
9. A Fool’s cap is in the form of a right circular cone of base radius 7 cm and height
of
24 cm. find the area of the sheet required to make 10 such caps.
SECTION - D (4x3-=

12)

10. The wall of length 10 m was to be built across an open ground . The height of the
wall is 4 m and the thickness of the wall is 24 cm.If this wall is to be built up with
bricks whose dimensions are 24 cmx 12 cm x8 cm , how many bricks would be
required.

11. A river is 3 m deep and 40 m wide is flowing at the rate of 2 Km per hour . How
much water will fall into the sea in a minute.

12. Write the appropriate equation for each of the following line graph given below.

%k 3k %k %k 3k %k %k k
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